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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by Cyber Law ? Explain in 

detail. 

lkbcj ykW ls vki D;k le>rs gSa \ foLrkj esa fyf[k,A 

2. Distinguish between proprietary software and open 

source software. Describe the disadvantages of 

proprietary software. 

izksfijSfVjh lkW¶Vos;j vkSj vksiu lkslZ lkW¶Vos;j esa D;k 

vUrj gS \ izksfijSfVjh lkW¶Vos;j iz;ksx djus ds uqdlku 

crkb;sA 

3. Explain the important features of Indian Law of 

Contract. 

Hkkjrh; lafonk fof/k ds izeq[k izko/kkuksa dks le>kb;sA 

4. Discuss the need of special law‟s in the field of cyber 

space. Do you think that Indian laws sufficiently deal 

with every aspect of the challenge posed by the 

technology in the field of cyber space ? 

lkbcj Lisl ds {ks= esa fo’ks”k dkuwuksa dh vko’;drk ds ckjs 

esa fyf[k;sA D;k vki lksprs gSa Hkkjrh; dkuwu lkbcj Lisl 

ds {ks= esa izkS|ksfxdh }kjk mRiUu pqukSfr;k¡ dk lkeuk djus 

esa l{ke gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Software ? Explain the difference between 

system software and application software. 

lkW¶Vos;j D;k gS \ flLVe lkW¶Vos;j ,oa ,fIyds’ku 

lkW¶Vos;j ds chp ds vUrj dks le>kb;sA 

2. Explain Computer Networking with example. 

dEI;wVj usVofd±x dks mnkgj.k ds lkFk le>kb;sA 

3. What is digital divide ? Explain various dimensions of 

digital divide. 

fMftVy fMokbM D;k gS \ fMftVy fMokbM ds fofHkUu 

vk;keksa dks fyf[k;sA 

4. What do you understand by cyber defamation ? 

Explain. 

lkbcj fMQses’ku ls vki D;k le>rs gSa \ le>kb;sA 

5. Write a note on information privacy in e-Commerce. 

bZ&dkWelZ esa lwpuk xksiuh;rk ds ckjs esa fyf[k,A 
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6. Explain the technical issues are associated in Cyber 

Contracts. 

lkbcj vuqcU/k ls tqM+s gq, rduhdh eqn~nksa dks le>kb;sA 

7. What are the objectives and reasons of the Information 

Technology Act ? 

buQkWesZ’ku VsDuksykWth ,DV ds mís’; ,oa dkj.k D;k gSa \ 

8. Write a note on drawbacks of Information Technology 

Act, 2000. 

buQkWesZ’ku VsDuksykWth ,DV] 2000 dh dfe;ksa ds ckjs esa 

fyf[k;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. The nodal agency to deal with cyber security in India is 

CERT-in. CERT-In is stands for ............ . 

Hkkjr esa lkbcj lqj{kk ls fuiVus ds fy, lh- bZ- vkj- Vh-& 

bu ,d uksMy ,tsalh gSA lh- bZ- vkj- Vh- bu dk iwjk uke 

D;k gS \ 

2. Symbol 0 and 1 represent ............. number system. 

ladsr 0 vkSj 1 
----------------------------

 la[;k iz.kkyh dks n’kkZrs gSaA 
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3. The most common transfer protocol used on the 

internet is ............. . 

bUVjusV esa bLrseky fd;s tkus okyk lcls vke gLrkarj.k 

izksVksdky gS 
----------------------------

A 

4. In Computer ROM stands for ............ . 

dEI;wVj esa vkj- vks- ,e- dk iwjk uke 
------------------- 

gSA 

5. HTTP stands for ................ . 

HTTP dk iwjk uke 
-------------------

 gSA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. First Director of CERT-in : 

(a) Dr. Gulshan Rai 

(b) Mr. Ravi Shankar Prasad 

(c) Dr. Deepak Mishra 

(d) None of the above 

lh- bZ- vkj- Vh- bu ds izFke funs’kd % 

¼v½ MkW- xqy’ku jk; 

¼c½ Jh jfo’kadj izlkn 

¼l½ MkW- nhid feJk 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. One gigabyte is equal to : 

(a) 1000 Mega bytes 

(b) 1024 Mega bytes 

(c) 100 Mega bytes 

(d) 1023 Mega bytes 
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,d xhxkckbV cjkcj gksrh gS % 

¼v½ 1000 esxkckbV~l 

¼c½ 1024 esxkckbV~l 

¼l½ 100 esxkckbV~l 

¼n½ 1023 esxkckbV~l 

8. Android is a : 

(a) Browser 

(b) Search engine 

(c) Operating system 

(d) None of the above 

,uMªksbM gS % 

¼v½ czkmlj 

¼c½ lpZ batu 

¼l½ vkWijsfVax flLVe 

¼n½ mi;qZDr esa ls dksbZ ugha 

9. IT Act, 2000 first amendment comes in : 

(a) 2008 

(b) 2009 

(c) 2010 

(d) 2011 

vkbZ- Vh- ,DV] 2000 esa igyk la’kks/ku gqvk % 

¼v½ 2008 esa 

¼c½ 2009 esa 

¼l½ 2010 esa 

¼n½ 2011 esa 
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10. Who is the Inforamtion Technology Minister in 

Trivendra Singh Rawat government in Uttarakhand ? 

(a) Mr. Arvind Pandey 

(b) Mrs. Rekha Arya 

(c) Mr. Dhan Singh Rawat 

(d) None of the above 

mŸkjk[k.M esa f=osUnz flag jkor ljdkj ds vUrxZr lwpuk 

izkS|ksfxdh ea=h dkSu gS \ 

¼v½ Jh vjfoan ik.Ms 

¼c½ Jherh js[kk vk;kZ 

¼l½ Jh /ku flag jkor 

¼n½ mi;qZDr esa ls dksbZ ugha 
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